
Запишите значение переменной b после выполнения 

фрагмента алгоритма: 

a:=a*2;
b:=b+a;

a:=1;
b:=1;

a =256?
да

нет



Запишите значение переменной s после выполнения 

фрагмента алгоритма: 

s:=s+n

n:=0;
s:=0;

n >100?
да

нет

n 
четно?

n:=n+1

да нет



1) m-? 2) a-?

m:=54;
n:=16;

m = n?
да

нет

m > n?
да

m:=m-n;

нет

n:=n-m;

b:=b+1;a:=a*2
;

a:=1;
b:=0;

b = 4?
да

нет



3) x-? 4) x, y-?

x:=55;
y:=75;

x < > y?
нет

да

x > y?
нет

y:=y-x;

да

x:=x-y;

x:=10;
y:=15;

y < 16?
нет

да

x <= y?
да x:=x+5;

y:=y-5;

нет

x:=x-3;
y:=y+5;



5) a-? 6) n-?

b:=b*2;a:=a+2
;

a:=16;
b:=2;

b = 32?
да

нет

m:=m-2;
n:=n*2;

n:=10;
m:=12;

m < 6?
да

нет



7)x,y-? 8) x-?

x:=15;
y:=35;

x < 30?
нет

да

x >= y?
да x:=x-5;

y:=y+5;

нет

x:=x+10;
y:=y-10;

x:=136;
y:=72;

x = y?
да

нет

x > y?
да

x:=x-y;

нет

y:=y-x;



9) x,y-? 10) b-?

x:=5;
y:=10;

y <= 10?
нет

да

x <= y?
да x:=x+1;

y:=y-1;

нет

x:=x-5;
y:=y+5;

a:=a+1;b:=b
+a;

a:=2;
b:=0;

a = 7?
да

нет


